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Section A

Churchill 1930-1951

Study the four sources and answer Question 1.

1 'Churchill was proposing unrealistic policies with regard to gaining international support
against Hitler in the 1930s.’

Use the four sources in their historical context to assess how far they support this view.
[30]

Source A: In his account of the lead—up to the war, Churchill comments on government policy.

It would have been possible in 1933 or even 1934 for Britain to have created an air force which would
have imposed the necessary restraints on Hitler's ambitions or, perhaps, would have enabled the military
leaders of Germany to control his violent acts. Had we acted with reasonable prudence and healthy
energy, war might never have come to pass. Based on superior air power, Britain and France could
safely have invoked the aid of the League of Nations, and all the states of Europe would have gathered
behind them.

Churchill, The Gathering Storm, 1948.

Source B: Britain’s military leaders offer a view of the defence situation in 1937 which was
discussed in the British cabinet.

Our naval, military and air forces in their present stages of development are still far from sufficient to meet
our defence commitments, which now extend from Western Europe through the Mediterranean to the Far
East. Without overlooking the assistance we might obtain from France, and other possible allies, we
cannot foresee the time when our defence forces will be strong enough to safeguard our territory, trade
and vital interests against Germany, Italy and Japan simultaneously. We must stress the importance of
any political or international action to reduce the numbers of our potential enemies.

Chiefs of Staff, memorandum, 8 December 1937.

Source C: Churchill speaks to the House of Commons about defence and foreign policy.

If a number of states were assembled around Great Britain and France in a solemn treaty for mutual
defence against aggression: if they had their forces marshalled in what you might call a Grand Alliance; if
they co—ordinated their military planning; if all this rested, as it can honourably rest, on the Covenant of
the League of Nations; if this were sustained by the moral sense of the world; and if this were done in the
year 1938, then | say you might even now prevent this approaching war.

Churchill, speech, 14 March, 1938.
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Source D: In a letter to his sister, the Prime Minister reflects on Churchill’s proposals for changes
in foreign policy.

The plan of the Grand Alliance, as Winston calls it, had occurred to me long before he mentioned it. |
talked about it to Halifax, and we submitted it to the Chiefs of Staff and Foreign Office experts. There is
everything to be said for it until you come to examine its practicability. From that moment, its attraction
vanishes. You only have to look at the map to see that nothing that France or Britain could do could
possibly save Czechoslovakia from being overrun by the Germans if they wanted to do so.

Chamberlain, letter, 20 March 1938.
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Section B

Britain 1951-1997

Answer Question 2 or Question 3.

‘The most important reason for Conservative political domination in the period from 1979 to
1997 was the weakness of the Labour party.’

How far do you agree?
[20]

Assess the reasons for the changing attitudes of British governments towards Europe in the period.

[20]

END OF QUESTION PAPER
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Copyright Information:

Source A: Reproduced with permission of Curtis Brown, London on behalf of The Estate of Winston S. Churchill. © The Estate of Winston S.
Churchill

Source B: Cabinet Papers (Public Record Office, London) CAB 23/90A. - National Archives, so under Open Government License logo

All content is available under the Open Government Licence v3.0,

Source C: Reproduced with permission of Curtis Brown, London on behalf of The Estate of Winston S. Churchill. © The Estate of Winston S.

Churchill
Source D: The Life of Neville Chamberlain, Keith Feiling, Macmillan & Co. Ltd., London, 1946.

OCR is committed to seeking permission to reproduce all third—party content that it uses in the assessment materials. OCR has attempted to
identify and contact all copyright holders whose work is used in this paper. To avoid the issue of disclosure of answer-related information to
candidates, all copyright acknowledgements are reproduced in the OCR Copyright Acknowledgements booklet. This is produced for each
series of examinations and is freely available to download from our public website (www.ocr.org.uk) after the live examination series.

If OCR has unwittingly failed to correctly acknowledge or clear any third—party content in this assessment material, OCR will be happy to correct
its mistake at the earliest possible opportunity.

For queries or further information please contact the Copyright Team, First Floor, 9 Hills Road, Cambridge CB2 1GE.

OCR is part of the Cambridge Assessment Group; Cambridge Assessment is the brand name of University of Cambridge Local Examinations
Syndicate (UCLES), which is itself a department of the University of Cambridge.
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MARKING INSTRUCTIONS
PREPARATION FOR MARKING

SCORIS

1. Make sure that you have accessed and completed the relevant training packages for on—screen marking: scoris assessor Online Training;
OCR Essential Guide to Marking.

2. Make sure that you have read and understood the mark scheme and the question paper for this unit. These are posted on the RM
Cambridge Assessment Support Portal http://www.rm.com/support/ca

3. Log—in to scoris and mark the required number of practice responses (“scripts”) and the required number of standardisation responses.

YOU MUST MARK 10 PRACTICE AND 10 STANDARDISATION RESPONSES BEFORE YOU CAN BE APPROVED TO MARK LIVE
SCRIPTS.

TRADITIONAL
Before the Standardisation meeting you must mark at least 10 scripts from several centres. For this preliminary marking you should use pencil and
follow the mark scheme. Bring these marked scripts to the meeting.

MARKING

1.  Mark strictly to the mark scheme.
2. Marks awarded must relate directly to the marking criteria.

3.  The schedule of dates is very important. It is essential that you meet the scoris 50% and 100% (traditional 50% Batch 1 and 100% Batch 2)
deadlines. If you experience problems, you must contact your Team Leader (Supervisor) without delay.

4. If you are in any doubt about applying the mark scheme, consult your Team Leader by telephone, email or via the scoris messaging system.


http://www.rm.com/support/ca
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5.  Work crossed out:
a. where a candidate crosses out an answer and provides an alternative response, the crossed out response is not marked and gains no
marks
b. if a candidate crosses out an answer to a whole guestion and makes no second attempt, and if the inclusion of the answer does not
cause a rubric infringement, the assessor should attempt to mark the crossed out answer and award marks appropriately.

6.  Always check the pages (and additional objects if present) at the end of the response in case any answers have been continued there. If the
candidate has continued an answer there then add a tick to confirm that the work has been seen.

7. Thereis a NR (No Response) option. Award NR (No Response)
- if there is nothing written at all in the answer space
- OR if there is a comment which does not in any way relate to the question (e.g. ‘can’t do’, ‘don’t know’)
- OR if there is a mark (e.g. a dash, a question mark) which isn’t an attempt at the question.
Note: Award 0 marks — for an attempt that earns no credit (including copying out the question).

8.  The scoris comments box is used by your Team Leader to explain the marking of the practice responses. Please refer to these comments
when checking your practice responses. Do not use the comments box for any other reason.
If you have any questions or comments for your Team Leader, use the phone, the scoris messaging system, or e—mail.

9.  Assistant Examiners will send a brief report on the performance of candidates to their Team Leader (Supervisor) via email by the end of the
marking period. The report should contain notes on particular strengths displayed as well as common errors or weaknesses. Constructive
criticism of the question paper/mark scheme is also appreciated.

10. For answers marked by levels of response:
a. To determine the level — start at the highest level and work down until you reach the level that matches the answer
b. To determine the mark within the level, consider the following:
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Descriptor Award mark
On the borderline of this level and the one At bottom of level
below
Just enough achievement on balance for this Above bottom and either below middle or at middle of level (depending on number of marks
level available)
Meets the criteria but with some slight Above middle and either below top of level or at middle of level (depending on number of marks
inconsistency available)
Consistently meets the criteria for this level At top of level

11. Annotations

Annotation Meaning
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12. Subject-specific Marking Instructions

INTRODUCTION

Your first task as an Examiner is to become thoroughly familiar with the material on which the examination depends. This material includes:

¢ the specification, especially the assessment objectives

¢ the question paper and its rubrics

e the mark scheme.

You should ensure that you have copies of these materials.

You should ensure also that you are familiar with the administrative procedures related to the marking process. These are set out in the OCR
booklet Instructions for Examiners. If you are examining for the first time, please read carefully Appendix 5 Introduction to Script Marking:

Notes for New Examiners.

Please ask for help or guidance whenever you need it. Your first point of contact is your Team Leader.
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USING THE MARK SCHEME

Please study this Mark Scheme carefully. The Mark Scheme is an integral part of the process that begins with the setting of the question paper
and ends with the awarding of grades. Question papers and Mark Schemes are developed in association with each other so that issues of
differentiation and positive achievement can be addressed from the very start.

This Mark Scheme is a working document; it is not exhaustive; it does not provide ‘correct’ answers. The Mark Scheme can only provide ‘best
guesses’ about how the question will work out, and it is subject to revision after we have looked at a wide range of scripts.

The Examiners’ Standardisation Meeting will ensure that the Mark Scheme covers the range of candidates’ responses to the questions, and
that all Examiners understand and apply the Mark Scheme in the same way. The Mark Scheme will be discussed and amended at the meeting,
and administrative procedures will be confirmed. Co-ordination scripts will be issued at the meeting to exemplify aspects of candidates’
responses and achievements; the co—ordination scripts then become part of this Mark Scheme.

Before the Standardisation Meeting, you should read and mark in pencil a number of scripts, in order to gain an impression of the range of
responses and achievement that may be expected.

Please read carefully all the scripts in your allocation and make every effort to look positively for achievement throughout the ability range.
Always be prepared to use the full range of marks.



Y113 Mark Scheme June 20xx

INFORMATION AND INSTRUCTIONS FOR EXAMINERS

1 The co-ordination scripts provide you with examples of the standard of each band. The marks awarded for these scripts will have been
agreed by the Team Leaders and will be discussed fully at the Examiners’ Co—ordination Meeting.

2 The specific task—-related indicative content for each question will help you to understand how the band descriptors may be applied. However,
this indicative content does not constitute the mark scheme: it is material that candidates might use, grouped according to each assessment
objective tested by the question. It is hoped that candidates will respond to questions in a variety of ways. Rigid demands for ‘what must be a
good answer’ would lead to a distorted assessment.

3 Candidates’ answers must be relevant to the question. Beware of prepared answers that do not show the candidate’s thought and which have
not been adapted to the thrust of the question. Beware also of answers where candidates attempt to reproduce interpretations and concepts
that they have been taught but have only partially understood.
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AO2: Analyse and evaluate appropriate source materials, primary and/or contemporary to the period, within its historical context.
Generic mark scheme for Section A, Question 1: How far do the four sources support the view? [30]

Level 6 The answer has a very good focus on the question throughout. The sources are fully evaluated, using both provenance and detailed

26-30 and accurate knowledge of their historical context in a balanced way, in order to engage with the sources and reach a convincing,

marks fully supported analysis of them in relation to the issue in the question.

Level 5 The answer has a good focus on the question. The sources are evaluated, using both provenance and relevant knowledge of their

21-25 historical context, in order to engage with the sources and reach a supported analysis of them in relation to the issue in the question.

marks There may be some imbalance in the analysis between use of provenance and use of knowledge.

Level 4 The answer is mostly focused on the question. The sources are evaluated, using both provenance and generally relevant knowledge

16-20 of their historical context, in order to engage with the sources and produce an analysis of them in relation to the question. The use of

marks provenance may not be developed.

Level 3 The answer is partially focused on the question. There is partial evaluation of the sources, with use of some knowledge of their

11-15 historical context, in order to engage with the sources and produce a partial analysis of them in relation to the question.

marks

Level 2 The answer has only limited focus on the question. Evaluation of the sources is very general. There is limited use of generalised

6-10 knowledge of historical context to engage with the sources and produce a basic analysis of them in relation to the question.

marks

Level 1 This answer is on the wider topic area, but not on the detail of the question. The sources are evaluated in a very basic way, primarily

1-5 being used as a source of information with understanding of them being only partial. A very generalised knowledge of historical

marks context is used in a very limited way to engage with the sources and to attempt a very simple analysis of them in relation to the
question.

0 marks No evidence of understanding or reference to the sources.
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AO1: Demonstrate, organise and communicate knowledge and understanding to analyse and evaluate the key features related to the
periods studied, making substantiated judgements and exploring concepts, as relevant, of cause, consequence, change, continuity,
similarity, difference and significance.

Generic mark scheme for Section B, Questions 2 and 3: Essay [20]

Level 6 There is a consistent focus on the question throughout the answer. Accurate and detailed knowledge and understanding is
17-20 demonstrated throughout the answer and is consistently evaluated and analysed in order to reach substantiated, developed and
marks sustained judgements.
There is a well-developed and sustained line of reasoning which is coherent and logically structured. The information presented is
entirely relevant and substantiated.
Level 5 There is a mostly consistent focus on the question. Generally accurate and detailed knowledge and understanding is demonstrated
13-16 through most of the answer and is evaluated and analysed in order to reach substantiated judgements, but these are not consistently
marks well-developed.
There is a well-developed line of reasoning which is clear and logically structured. The information presented is relevant and in the
most part substantiated.
Level 4 The question is generally addressed. Generally accurate and sometimes detailed knowledge and understanding is demonstrated
10-12 through most of the answer with evaluation and some analysis, and this is used appropriately to support the judgements that are
marks made.
There is a line of reasoning presented with some structure. The information presented is in the most-part relevant and supported by
some evidence.
Level 3 The question is partially addressed. There is demonstration of some relevant knowledge and understanding, which is evaluated and
7-9 analysed in parts of the answer, but in places knowledge is imparted rather than being used. The analysis is appropriately linked to
marks the judgements made, though the way in which it supports the judgements may not always be made explicit.
The information has some relevance and is presented with limited structure. The information is supported by limited evidence.
Level 2 The focus is more on the topic than the specific demands of the question. Knowledge and understanding is limited and not well used,
4-6 with only limited evaluation and analysis, which is only sometimes linked appropriately to the judgements made.
marks The information has some relevance, but is communicated in an unstructured way. The information is supported by limited evidence
and the relationship to the evidence may not be clear.
Level 1 The answer relates to the topic but not the specific question. The answer contains only very limited relevant knowledge which is
1-3 evaluated and analysed in a very limited way. Judgements are unsupported and are not linked to analysis.
marks Relevant knowledge is limited, generalised and poorly used; attempts at argument are no more than assertion.
Information presented is basic and may be ambiguous or unstructured. The information is supported by limited evidence.
0 marks No evidence of understanding and no demonstration of any relevant knowledge.
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Section A

Question Answer Marks Guidance
1 Using these four sources in their historical context, 30 No set answer is expected.

assess how far they support the view that Churchill

was proposing unrealistic policies with regard to

gaining international support against Hitler in the
1930s.

e In discussing Source A, answers might argue that
there are so many ‘ifs’ that the view is unrealistic — it
depends on Britain building air power, acting jointly with
France and the League of Nations, and ‘all the states of
Europe’ acting together.

e In discussing the provenance of Source A, answers
might point to this being a view taken in hindsight when
the Grand Alliance had been successful and that
Churchill was justifying his own opposition to
government policy.

e In discussing the historical context of Source A,
answers might argue that financial restraints and public
opinion would have made rearmament difficult; that the
League had shown weakness e.g. in 1931 and 1935;
that ‘all the states of Europe’ would have had to include
the USSR, then in turmoil and France, then deeply
divided.

e In discussing Source B, answers might show that
Churchill was unrealistic as the military leaders were
urging reducing enemies and pointing out the limitations
of taking action because of worldwide responsibilities.

e Indiscussing the provenance of Source B, answers
might consider the habitual caution of military leaders,
but refer to them having more accurate information than
Churchill.

At Level 5 and above, there will be judgement about the
issue in the question.

To be valid judgements, they must be supported by
accurate and relevant material.

At Level 4 and below, answers may be simply a list of
which sources support or challenge the view in the
guestion.

Knowledge must not be credited in isolation, it should only
be credited where it is used to analyse and evaluate the
sources, in line with descriptions in the levels mark
scheme.

10
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Section A
Question Answer Marks Guidance

In discussing the historical context of Source B,
answers might comment on the problems caused by
years of military reduction (much initiated by Churchill
himself), and the real dangers from Japan and lItaly as
well as the build—up of arms by Hitler which support this
view.

In discussing Source C, answers might see that a firm
Franco—British alliance might have acted as a deterrent
as might military planning. It might be argued that moral
high ground might have been taken. Churchill may have
been realistic in pointing out the need for a stronger
policy. However, this remains quite speculative.

In discussing the provenance of Source C, answers
might comment on the date — before the Anschluss and
the German threats to Czechoslovakia. This, unlike
Source A, is not written in hindsight. Though a speech
to persuade, it is not over—rhetorical.

In discussing the historical context of Source C,
answers might argue that by this time German
rearmament had not resulted in overwhelming military
superiority, that German generals were not confident of
victory and that the actions of 1938 were gambles.
However, the defensive mentality and internal
weaknesses of France are not considered. Nor is British
public opinion.

In discussing Source D, answers might argue that it
shows Churchill is being unrealistic in that the Prime
Minister has consulted experts and has considered the
alternative to Appeasement carefully.

11
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Section A
Question Answer Marks Guidance

In discussing the provenance of Source D, answers
might argue that Chamberlain is being candid in a
private letter, that there is a case for another policy and
that he has a genuine belief in its being realistic.
However, given his firm belief in his own policy, this is a
justification and can be questioned.

In discussing the historical context of Source D,
answers might argue that either it does confirm
Churchill as being unrealistic — there was service advice
and the context for a Grand Alliance was unfavourable;
however, the defeatist attitude that there was nothing
that France or Britain could do is not supported by the
French alliance with the USSR, large French forces, a
large Czech army and the lack of confidence in German
military leaders in sustaining a war.

12
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Section B
Question Answer Marks Guidance

2* ‘The most important reason for Conservative political 20 No set answer is expected.

domination in the period from 1979 to 1997 was the

weakness of the Labour party.” How far do you agree?

¢ In arguing that the weakness of the Labour party
was the most important reason, answers might
consider the divisions within the party, particularly
issues such as Militant Tendency and the breakaway of
the SDP.

o Answers might consider the Labour Party’s attitude
towards nuclear disarmament, particularly under
Michael Foot.

o Answers might consider the weakness of the leadership
of Michael Foot and the election manifesto described as
the longest suicide note in history.

¢ Answers might consider the labour party’s strong links
with the Unions and the contribution of this to industrial
strife, which led to many no longer seeing Labour as a
party of government.

e In arguing that there were other reasons, answers
might consider the leadership of Thatcher and the
strong leadership provided over issues such as the
Falklands and the Miners’ Strike.

o Answers might consider the appeal of popular
capitalism with the selling of shares.

o Answers might suggest that the popular appeal of John
Major in his election campaign of 1992 helped win an
unexpected victory.

At higher levels, candidates will focus on ‘how far’; but at
Level 4 may simply list the weaknesses or lack of
weaknesses.

At Level 5 and above, there will be judgement as to the
relative importance of the reasons.

At higher levels, candidates might establish criteria
against which to judge the importance of the reasons.

To be valid judgements, claims must be supported by
relevant and accurate material. If not, they are assertions.
Knowledge must not be credited in isolation, it should only
be credited where it is used as the basis for analysis and
evaluation, in line with descriptions in the levels mark
scheme.

13




Y113 Mark Scheme June 20xx
Section B

Question Answer Marks Guidance
3* Assess the reasons for the changing attitudes of 20 No set answer is expected.

British government towards Europe in the period.

¢ In arguing that the Empire was an important factor,
answers might argue that with the loss of Empire,
Britain needed to improve its relations with Europe for
trade.

e Answers might consider the role of the USA in
encouraging Britain to seek closer relations with
Europe, particularly as it had opposed Britain’s imperial
position.

e Answers might consider the impact of the Suez crisis on
Britain’s position in the world.

¢ Answers might consider that, at the end of the Second
World War, many still wanted to uphold the Empire and
it was only when that was no longer realistic because of
costs and nationalism that attitudes changed.

e In arguing that it was economic factors, answers
might consider the economic growth of Europe in the
1950s and contrast that with Britain.

o Answers might consider the changing attitudes of the
Conservative party, particularly the roles of Macmillan
and Heath.

¢ Answers might suggest that Britain had always had
close relations with Europe and had been involved in
various developments at the end of the war, but did not
want to join the EEC at the start because of concerns
about the Empire and its place.

At higher levels, candidates will focus on assessing the
factors; but at Level 4 may simply list the reasons.

At Level 5 and above there will be judgement as to the
relative importance of the reasons.

At higher levels, candidates might establish criteria
against which to judge the importance of the reasons.

To be valid judgements, claims must be supported by
relevant and accurate material. If not, they are assertions.
Knowledge must not be credited in isolation, it should only
be credited where it is used as the basis for analysis and
evaluation, in line with descriptions in the levels mark
scheme.

14
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Assessment Objectives (AO) Grid

Question AO1l AO2 AO3 Total
1 30 30
2/3 20 20
Totals 20 30 50
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